


Date

Drawn 03.11.2014

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

Rev. No. Rev.-Doc.-No. Date Name

STATUS
Description

Faraday-Cup UNI-DC 1090

Copying of this Document, and giving it to others and the use 
of communication of the contents thereof, are forbidden 
without express authority. Offenders are liable to the payment 
of damages. All rights are reserved in the event of the grant of 
a patent or the registration of a utility model or design.

GSI Helmholtzzentrum für Schwerionenforschung GmbH
Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

Drawing No.

STD-000-L53.001.000
Rev.

Description Dimensions
( finished part )

Standard /
Source of supply Material RemarkDrawing No.

STD-000-C31.001.000 (-)

1 Blende STD-000-C31.003.000 (-)

1 Flansch mit Durchfuehrungen

1 Magnetsystem DF240.030 (-)

DF240.050 (A)

1 Tassenverlaengerung DF240.040 (-)

1 Tassenkopf oben DF240.060 (A)

1 Tassenkopf unten

1 Suppressor DF240.070 (-)

STD-000-C31.000.002 (A) 121x75x4 1.4301 (X5CrNi18-10)

2 Rueckwandhaelfte STD-000-C31.000.004 (A) 154x60x0,5 1.4301 (X5CrNi18-10)

1 Seitenteil links

AlCuMgPb F38

1 Leiste STD-000-C31.000.005 (-) 110x5x5 AlCuMgPb F38

STD-000-C31.000.009 (-) 80x68x56 AlCuMgPb F38

2 Leiste STD-000-C31.000.006 (-) 20x5x5

1 Abschirmdeckel STD-000-C31.000.010 (-) 55x39,6x0,5 1.4301 (X5CrNi18-10)

1 Konsole

1 Seitenteil rechts STD-000-L53.001.001 (-) 121x75x4 1.4301 (X5CrNi18-10)

Sheet 1 of 4



Date

Drawn 03.11.2014

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

Rev. No. Rev.-Doc.-No. Date Name

STATUS
Description

Faraday-Cup UNI-DC 1090

Copying of this Document, and giving it to others and the use 
of communication of the contents thereof, are forbidden 
without express authority. Offenders are liable to the payment 
of damages. All rights are reserved in the event of the grant of 
a patent or the registration of a utility model or design.

GSI Helmholtzzentrum für Schwerionenforschung GmbH
Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

Drawing No.

STD-000-L53.001.000
Rev.

Description Dimensions
( finished part )

Standard /
Source of supply Material RemarkDrawing No.

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

Cu

DB012.000.090 (-) Ø8,5x6,3 Aluminiumoxid 99,7%

5 Muffe SIS-DF010.000.250 (-) Ø7x10x1

8 Isolierring DF060.000.050 (-) Ø10x5 Aluminiumoxid 99,7%

8 Isolierbuchse

1.4301 (X5CrNi18-10)

4 Isolierbuchse DF180.000.080 (-) Ø13x12 Aluminiumoxid 99,7%

DF240.000.130 (-) 36x16x5 Aluminiumoxid 99,7%

4 Stehbolzen STD-000-C31.000.001 (-) SW17x30

1 Kuehlrohr DF240.000.190 (-) Ø6x59x1 EN CW020A (Cu-PHC / 
SE-Cu)

2 Isolierplatte

1 Kuehlrohr DF240.000.220 (-) Ø6x123,5x1 EN CW020A (Cu-PHC / 
SE-Cu) gestreckte Länge 154

Sheet 2 of 4



Date

Drawn 03.11.2014

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

Rev. No. Rev.-Doc.-No. Date Name

STATUS
Description

Faraday-Cup UNI-DC 1090

Copying of this Document, and giving it to others and the use 
of communication of the contents thereof, are forbidden 
without express authority. Offenders are liable to the payment 
of damages. All rights are reserved in the event of the grant of 
a patent or the registration of a utility model or design.

GSI Helmholtzzentrum für Schwerionenforschung GmbH
Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

Drawing No.

STD-000-L53.001.000
Rev.

Description Dimensions
( finished part )

Standard /
Source of supply Material RemarkDrawing No.

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

M3x6 ISO 4762 A2 E-Ag

4 Zylinderschraube M3x16 ISO 4762 A2 E-Ag

20 Zylinderschraube

A2 E-Ag

4 Zylinderschraube M5x16 ISO 4762 A2 E-Ag

M5x12 ISO 10642 A2 E-Ag

4 Zylinderschraube M6x25 ISO 4762

12 Senkschraube

A2-50

Ø5,3 ISO 7090 A2-50

8 Scheibe Ø3,2 ISO 7089

4 Scheibe Ø6,4 ISO 7090 A2-50

4 Scheibe

M3 ISO 4032 8 verzinkt6 Sechskantmutter

Sheet 3 of 4



Date

Drawn 03.11.2014

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

Rev. No. Rev.-Doc.-No. Date Name

STATUS
Description

Faraday-Cup UNI-DC 1090

Copying of this Document, and giving it to others and the use 
of communication of the contents thereof, are forbidden 
without express authority. Offenders are liable to the payment 
of damages. All rights are reserved in the event of the grant of 
a patent or the registration of a utility model or design.

GSI Helmholtzzentrum für Schwerionenforschung GmbH
Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

Drawing No.

STD-000-L53.001.000
Rev.

Description Dimensions
( finished part )

Standard /
Source of supply Material RemarkDrawing No.

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

2 Kabelverbinder BNr. 9924004Typ PIL059 Fa. Caburn Cu-Be

ca. 100 lang, bei 
Montage ablängen

versilbert

1 Kaptonisierter Draht Typ HT 2801 Fa. Axon-Kabel, Hanau

3 Kabelschuh 3,2mm Typ K702A/3,2 Fa. Osterrath KG, 
Sassmannshausen St

Sheet 4 of 4




































































































	STD-000-L53.001.000-0_Faraday-Cup UNI-DC 1090_2014-11-07.pdf
	S_STD-000-L53.001.000-0_Faraday-Cup UNI-DC 1090.pdf
	STD-000-C31.001.000-0_Flansch mit Durchfuehrungen.pdf
	STD-000-C31.001.000-0_Flansch mit Durchführungen.pdf
	S_STD-000-C31.001.000-0_Flansch mit Durchführungen.pdf
	DF240.020.010-0_Flansch DN 63.pdf
	STD-000-C31.002.000-0_Kühlwasserdurchführung.pdf
	STD-000-C31.002.000-0_Kühlwasserdurchführung.pdf
	STD-000-C31.002.000-0_Kühlwasserdurchführung.pdf
	S_STD-000-C31.002.000-0_Kühlwasserdurchführung.pdf
	STD-000-C31.002.001-0_Kühlrohr.pdf
	DF040.070.020-0_Tuelle.pdf

	STD-000-C31.006.000-0_Durchfuehrung.pdf
	STD-000-C31.006.000-0_Durchführung.pdf
	S_STD-000-C31.006.000-0_Durchführung.pdf


	STD-000-C31.007.000-0_Hochspannungsdurchfuehrung.pdf
	STD-000-C31.007.000-0_Hochspannungsvakuumdurchführung.pdf
	S_STD-000-C31.007.000-0_Hochspannungsvakuumdurchführung.pdf


	STD-000-C31.003.000-0_Blende.pdf
	STD-000-C31.003.000-0_Blende.pdf
	S_STD-000-C31.003.000-0_Blende.pdf

	DF240.030.000-0_Magnetsystem.pdf
	DF240.030.000-0_Magnetsystem.pdf
	S_DF240.030.000-0_Magnetsystem.pdf
	DF240.030.010-0_Joch.pdf
	DF240.030.020-0_Magnet.pdf

	DF240.040.000-0_Tassenverlaengerung.pdf
	DF240.050.000-A_Tassenkopf unten.pdf
	DF240.050.000_A Tassenkopf unten 2014-11-07.pdf
	S_DF240.050.000-A_Tassenkopf unten.pdf
	DF240.050.010-A_Deckel.pdf
	DF240.050.020-A_Kühlkörper unten.pdf
	DF240.050.020-1A Kühlkörper unten.pdf
	DF240.050.020_2_A Kühlkörper unten 2014-11-07.pdf

	DF240.050.030-0 Verbindungsschr..pdf
	DF240.050.040-0_Rohrbogen.pdf

	DF240.060.000-A_Tassenkopf oben.pdf
	DF240.060.000-A_Tassenkopf oben.pdf
	S_DF240.060.000-A_Tassenkopf oben.pdf
	DF240.060.010-A_Deckel.pdf
	DF240.060.020-A Kühlkörper oben.pdf
	DF240.060.020_1_A Kühlkörper oben 2014-11-07.pdf
	DF240.060.020_2_A Kühlkörper oben 2014-11-07.pdf

	DF240.060.030-0_Kuehlrohr.pdf
	DF240.050.030-0 Verbindungsschr..pdf
	DF240.050.040-0_Rohrbogen.pdf

	DF240.070.000-0_Suppressor.pdf
	STD-000-C31.000.002-A_Seitenteil links.pdf
	STD-000-C31.000.004-A_Rueckwandhaelfte.pdf
	STD-000-C31.000.005-0_Leiste.pdf
	STD-000-C31.000.006-0_Leiste.pdf
	STD-000-C31.000.009-0_Konsole.pdf
	STD-000-C31.000.010-0_Abschirmdeckel.pdf
	STD-000-L53.001.001-0_Seitenteil rechts_2014-11-07.pdf
	SIS-DF010.000.250-0_Muffe.pdf
	DB012.000.090-0_Isolierbuchse.pdf
	DF060.000.005-0_Isolierring.pdf
	DF180.000.080-0_Isolierbuchse.pdf
	STD-000-C31.000.001-0_Stehbolzen.pdf
	DF240.000.130-0_Isolierplatte.pdf
	DF240.000.190-0_Kuehlrohr.pdf
	DF240.000.220-0_Kuehlrohr.pdf

